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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 5979 0.7 0.8 2 37.2 92.8
1b 5629 0.5 0.5 1 54.7 87.3
1c 6165 0.7 0.5 1 67.4 95.7
2a 5813 1.6 1.1 3 52.3 90.2
2b 5375 1.6 1 3 54.3 83.4
2c 5252 1.1 1.1 3 37.2 81.5
3a 6359 1.6 0.6 2 80.6 98.7
3b 6396 1.2 0.8 2 61.1 99.2
3c 6107 0.5 0.5 1 50.8 94.8
4a 5862 3.2 2.3 8 39.5 91
4b 6161 0.4 0.5 1 37.7 95.6
5 5585 1.1 1.4 5 22.6 86.7
6 4928 0.2 0.6 4 4.3 76.5
7 6316 1.1 0.8 3 37.8 98
8 5433 1.9 1.7 8 23.4 84.3
9 4805 0.5 0.9 6 8 74.5

10a 4344 0.5 0.7 2 22.7 67.4
10b 3199 0.3 0.8 3 10.9 49.6
10c 3160 0.2 0.7 4 4.5 49
11 5483 1 1.2 3 32.6 85.1
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GCSE Maths - Numeracy 3310U1 Foundation 
Unit 1 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1(a) (£)125000 
 
    


B2 Award B1 for sight of 125123 
 
For B1:  
FT their answer to 269885 - 144762 
correctly rounded to the nearest 1000 
 
Allow B1 for sight of 270000 and 145000 
 












Sticky Note

This candidate has rounded each of the least and most expensive counties but has not found the difference.
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Sticky Note

This candidate has found the difference between the least and most expensive average house price but has not rounded their answer correct to the nearest £1000.
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Sticky Note

This candidate has only stated the average house price in the most expensive county and the least expensive county. they have not attempted to calculate the difference.
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1.	 Owen buys houses in Wales. He then rents them out to people.
	 He uses a website to find the average price for a detached house in 6 different counties.


Average House Prices (November 2015)


	 (a)	 Calculate the difference between the average house price in the most expensive county 
and least expensive county. 


		  Give your answer correct to the nearest £1000.	 [2]


	


	


	


	


County Average house price (£)


Anglesey 171 684


Carmarthenshire 158 973


Powys 199 998


Cardiff 269 885


Neath Port Talbot 144 762


Ceredigion 182 852







































2(a) Evidence of counting area in either 
biscuit 
 
Area of Tamsin’s biscuit in range  
17 – 25 (cm2) 
AND  
Area of Sophie’s biscuit in range  
22 – 27 (cm2)  
AND conclusion given (yes).  
The conclusion must be consistent with 
their area values within the ranges 
given 
 


M1 
 
 


A2 
 
 


Look at diagram 
 
 
Award A1 for either area in the range. 
 
One correct area implies M1 
 
 
Allow ‘no’ if areas are within the ranges 
given and Tamsin’s area is greater than or 
equal to Sophie’s 
 
A2 cannot be awarded unless a 
conclusion is given. 
 












Sticky Note

This candidate has shown evidence of counting squares and has the area of Sophie's biscuit within the acceptable range. However, the area for Tamsin's biscuit is not. The candidate is therefore awarded M1 A1 A0. 












 



Sticky Note

Although the candidate has stated that Tamsin is correct saying that Sophie's biscuit is bigger, no values for area are given. This means the candidate is only awarded M1 for counting area.












 



Sticky Note

This candidate has given correct values for the area of each of Tamsin's and Sophie's biscuit. However, they have not not fully answered the question. They did not decide whether Tamsin is correct or not.
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2.	 (a)	 Tamsin and Sophie make biscuits.
		  They plan to cover the top surface of each biscuit with the same thickness of chocolate.


		  The biscuits are shown on the centimetre squared grid below.


		  Tamsin thinks that Sophie’s biscuit will need more chocolate to cover it. 
		  Estimate the area of each biscuit. 
		  Decide whether or not Tamsin is correct. 
		  Show all your working.	 [3]


	


	


	


	


	


	


Tamsin’s biscuit Sophie’s biscuit







































2(b) Table set up with rows or columns: 
 


• with all 4 biscuits listed 
correctly.  


 
• Labelled with tallies  


 
• Labelled with frequency or 


equivalent as a heading 


 
 


B1 
 
 


B1 
 


B1 


 
 
Accept other biscuits also listed and/or use 
of “other”. Accept abbreviations. 
 
Accept tallies drawn 
 
Accept total or number of people for 
frequency 
 


  












Sticky Note

Candidates were asked to design a tally chart. This candidate has drawn a bar chart; they therefore received no marks.













 



Sticky Note

This candidate has started to design a tally chart with the biscuits set up and listed in a table format. The candidate has not provided the headings for tallies or frequency though so only achieved 1 mark.













Sticky Note

This candidate has not only included the biscuits but has included a column in their table for the number of biscuits. As tallies have not been included the candidate is awarded 2 marks.
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	 (b)	 Tamsin and Sophie have carried out a survey to find which biscuits are the most popular.
		  The four most popular biscuits are chocolate cookies, custard creams, jammy dodgers 


and digestives.
		  Design a tally chart that Tamsin and Sophie could have used to collect their data and  


show their results.	 [3]












4(a) An attempt at multiplying the hours 
for at least 1 day by 8 
 
(From Tuesday to Friday) 17 hours 
 
 
 
 
(Pay for Tuesday to Friday) 
 15 × (£)8 + 2 × (£)9 (=120 + 18) 
 
or 17 × (£)8 + 2 × (£)1 (=136 + 2) 
 
or  3½×8 + 4×8 + 4½×8 + 3×8 + 2×9                                                          
           (28 + 32 + 36 + 24 + 18 =138) 
 
 
(Saturday pay) 3× 2 × (£)8 (=48) 
 
(Total pay) (£)186(.00) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Organisation and communication 
 
 
 
 
 
 
 
 
 
 
Writing 
 


S1 
 


 
B1 


 
 
 
 


B2 
 
 
 
 
 
 


 
 


B1 
 


B1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


OC1 
 
 
 
 
 
 
 
 
 
 


W1 
 


May be implied in later working 
 
 
Working with 17 hours from Tuesday to 
Friday this may be seen or implied by sight 
of eg 138 or (120 and 18) or (15 and 2) or 
18 or 136 or (12 and 5) 
 
FT (their 17 – 15) × (£)9 
 
 
 
 
Award B1 for sight of either 15 × (£)8 or  2 
× (£)9 or 120 or 18 
 
 
 
 
CAO 
 
If last B1 not awarded and no marks 
awarded from the B2 section then award 
SC1 for answers in the range (£)184 to 
(£)189 from appropriate working provided 
no numerical errors made. 
(This is from not dealing with the Friday 
and extra hours) 
E.g. 28 + 32 + 38 + 42 + 48 = 187  
award S1 B1(have worked with 17 hours) 
B0 B1 B0 SC0 (4½ × 8 and 5 × 8 not 
correct and addition of values also not 
correct) 
 
Common answers of 
28 + 32 + 36 + 40 + 48 = 184 
Award S1 B1 B0 B1 B0 SC1 (no extra 
hours) 
 
28 + 32 + 36 + 45 + 48 = 189 
Award S1 B1 B0 B1 B0 SC1 (5 extra 
hours) 
 
184 + ‘their 2’ ”extra” hours 
Award S1 B1 B0 B1 B0 SC1 
 
For OC1, candidates will be expected to: 
• present their response in a structured 
way 
• explain to the reader what they are doing 
at each step of their response 
• lay out their explanations and working in 
a way that is clear and logical 
• write a conclusion that draws together 
their results and explains what their 
answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, 
punctuation and grammar 
• use correct mathematical form in their 
working 
• use appropriate terminology, units, etc. 
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4.	 Mrs Henry works part time in a factory.
	 The amount of time for each day that she worked last week is shown in the table.


	 Mrs Henry’s pay is calculated using the following:


	 Tuesday to Friday:	 •	 £8 per hour for the first 15 hours
		  •	 £9 per hour for any extra hours


	 Saturday:	 •	 double the usual rate of £8 per hour


	 (a)	 In this part of the question, you will be assessed on the quality of your organisation, 
communication and accuracy in writing.


		  Work out Mrs Henry’s total pay for last week.
		  You must show all your working.	 [6 + 2 OCW]


	


	


	


	


	


	


	


	


	


	


	


Day Hours worked


Tuesday 3


Wednesday 4


Thursday 4


Friday 5


Saturday 3


1
2


1
2












5. (potatoes for 6 people =) 30 (ounces) 
(potatoes for 6 or 30 ounces =) 30 × 28 
                  = 840 (grams) 
 
(Scale reading  =) 480 (grams) 
 
(Need 840 – 480 =) 360 (grams) 
 
 
 
 
 
 


B1 
M1 
A1 


 
B1 


 
B1 


 
 
 
 
 
 


 
 


 
 


 


 
FT ‘their 30 ounces’ (including 10 ounces) 
 
 
 
 
FT ‘their 840’ and ‘their 480’ provided FT 
answer >0 
 
Alternative method for the first 3 marks: 
(potatoes for 2 people or 10 ounces=10 × 28)                     
                                            =  280 (grams)    B1 
(potatoes for 6 people or 30 ounces=)  
                                                      280 × 3    M1  
FT ‘their 10 × 28’ × 3 for M1 and possible A1 
if ‘their 10 × 28’ × 3 correctly evaluated.  


840(grams)    A1 
 
 
 
 
Alternative method for the first 3 marks: 
 (potatoes for 1 person or 5 ounces= 5 × 28)       
                                             =  140(grams)    B1 
(potatoes for 6 people or 30 ounces=) 
                                                      140× 6     M1  
FT ‘their 5 × 28’ × 6 for M1 and possible A1    
if ‘their 5 × 28’ × 6 correctly evaluated.  


840(grams)    A1 
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5.	


	 Huw is going to make vegetable soup for 6 people.


	 A recipe for 2 people uses 10 ounces of potatoes.
	 He has placed some potatoes on his weighing scales as shown below.


	 The weighing scales display the mass in grams.
	 Huw knows that 1 ounce is approximately 28 grams.
	 How many more grams of potatoes does Huw need to make vegetable soup for 6 people?	 [5]


	


	


	


	


	


	


	


Extra mass of potatoes needed is ………….. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .………………………. grams


0
100


200


300


400
500


600


700


800


900


1kg












8. (Tent ground area ) 2.5 × 4.4 
 
 
                                            = 11 (m2)  
 
 
 
 
(Total cost for 12 nights, pay for 10 
nights =) 10×14 + 2×10×4 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                         (140 + 80 = £) 220 
 
 
 
 
 
(Saving = 2×) 8 × 15 
                                        (£) 240 
 
 
 
 
 
 
 
 
 
 
 
 
 
Conclusion, e.g. ‘planned saving is 
enough to pay for the holiday’ 
 
 
 
 


M1 
 
 


A1 
 
 


 
 
M2 


 
 
 
 
 
 
 
 
 
 
 


 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


A1 
 
 
 
 
 
M1 
A1 


 
 
 
 
 
 
 
 
 
 
 
 


 
E1 


 
 


 
 


Allow for sight of 2(.)5(0) × 4(.)4(0) 
Working of the ground area must be seen, 
i.e. sight of 2.5 × 4.4 not 2 × 4 or 3 × 4 
CAO, not FT 
 
If no area calculation seen award M0, A0 
then FT for M and A marks, final mark E0 
 
FT ‘their ground area >12m2 to calculation 
10×16 + 2×10×4 (=£240) for M2 or 
equivalent M1 (see formula below) 
 
If incorrect interpretation of ‘their ground 
area’, award M1 only for either  
area ≤12m2 with 10×16 + 2×10×4 (=£240), 
or 
area>12m2 with 10×14 + 2×10×4 (=£220),  
 
M1 for a sum of two products: 
(2 x) a × b + (2 ×) 4 × c 
where  
a = 10, 11 or 12 
b = 14 or 16 
c = 10, 11 or 12 
The initial (2 ×) is if the error is 2 tents! 
For example:  


• 12×14 + 2×10×4 (= £248) 
• 10×14 + 10×4 (= £180) 
• 12×16 + 2×12×4 (= £288) 


Ignore further working attempting to 
subtract discounts 
Working with the cost of 1 night, e.g.  
14 + 2 × 4 or 16 + 2 × 4, ignore errors in 
calculation and award M2 or M1 as 
appropriate when attempt to multiply by 
10, 11 or 12 is seen, i.e work may be seen 
in stages 
 
CAO 
If previous M0, A0 for costs, award SC1 
for sight of 1 night cost (£)22 or for sight of  
10×14 and 2×10×4 without indication of 
addition 
 
Allow M1 only 1 person saving 
CAO, not FT 
Alternative 
(How many weeks of saving)  
220 ÷ (2 × 15)                                     M1   
(FT ‘their 220’ for M1 only)                                                                          
  7⅓ or 7.3(.....)(weeks)               A1  CAO 
If no marks, allow SC1 for 14.6(6... weeks) 
or 14.7  from 220 ÷ 15 
 
Or equivalent for working with cost per 
person, i.e. ½ × 10 × 14 + 10 × 4 = £110 
and saving 8 × 15 = £120, all previous 
marks are available 
 
FT comparison for ‘their £240 saved’ with 
‘their total cost’, provided at least 2 M 
marks previously awarded one of which 
must be for area calculation 
Allow the conclusion 'yes' 
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8.


	 Rhodri and Lars are planning a camping holiday, staying at Maes Alun Camping.
	 They are going to:
	 •	 take only one tent between them,
	 •	 take a tent covering a rectangular ground area, measuring 2.5 metres by 4.4 metres,
	 •	 both stay for a total of 12 nights.


	 Their holiday is just 8 weeks away.
	 They each plan to save £15 per week from now until their holiday in 8 weeks’ time.


	 Will the amount they save be enough to pay for their holiday?
	 You must show all your working.	 [8]


	


	


	


	


	


	


	


	


Maes Alun Camping
Charges


Tents covering ground area:
	 •	 less than or equal to 12 m2	 cost	 £14 per night 
	 •	 greater than 12 m2	 cost	 £16 per night


AND


Charge per person:  £4 per night


Stay 5 nights and get the next night completely free.
This means no charge for tents or people on every 6th night.












Sticky Note

This candidate has included everything that should be there for full marks. Biscuits are listed and are labelled. There are sections for tallies and frequency.





















Sticky Note

This candidate has worked with at least one day at £8 per hour. They have worked with 17 hours and have even calculated Friday correctly with 3 hours at £8 and 2 hours at £9. They have also engaged correctly with the idea of double time on Saturday. The only error that this candidate has made is not correctly adding the values. The answer should be £186 not £156. OCW1 was awarded.












willir

Sticky Note

Marked set by willir












Sticky Note

This candidate has worked with at least one day at £8 per hour. They stated that there are 17 hours between Tuesday and Friday. However, they then calculate 15 hours at £8 and 3 hours at £9 instead of 2 hours. Double time on Saturday is calculated correctly. This candidate was awarded OCW2





















Sticky Note

This candidate thinks that 28 grams (1 ounce) is the amount for 1 person and has then multiplied this by 6. They did not engage with the fact that 2 people use 10 ounces.






















Sticky Note

This candidate has correctly calculated the amount of potatoes needed for 6 people but has not engaged with the amount on the weighing scales and therefore has not  calculated how much more is needed.













Sticky Note

Many candidates worked with 10 ounces being 280 grams. However, this candidate thought that 280 grams was for 1 person not 2 people. This meant that instead of multiplying by 3 they multiplied by 6.






















Sticky Note

This candidate has shown the correct method to calculate the area of a rectangle but has the wrong answer (M1 A0). They correctly work out the cost of the tent for the correct number of nights but only calculate the cost of 1 person for 10 nights (M1 A0). They work out the savings for 1 person not 2 people (M1 A0). As they have worked with area they can be awarded E1 for making a statement about whether they have saved enough money or not.





















Sticky Note

This candidate has correctly evaluated the area of the rectangle (M1 A1). However, they work with 12 nights and not 10 nights for the cost of the tent and 2 people (M1 A0). They correctly calculate the amount saved (M1 A1) and make a statement about whether they have enough money (E1).





















Sticky Note

This candidate has not worked with area. They have attempted to calculate the savings (8 x 15) for M1 but then only calculated the cost of the tent for 12 nights. They did not look at the costs for the 2 people.












 











